
BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD

ART. NUMBER: 39833 
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD

ART. NUMBER: 39833 
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HDSHEET: 1/4

POS. CODE DESCRIPTION QTY
1 A13680 PISTON PUMP LB50 1

2 A13792 AIR PIPE 1

3 BOLT 4

4 WASHER 22

5 A13693 PLATFORM 1

6 WASHER 9

7 NUT 8

8 A13763 PRESSOSTAT 1

9 A13686 SAFETY VALVE 1

10 A13776 PLUG 1

11 A13719 PRESSURE GAUGE 1

12 A13675 ADAPTER 1

13 A13801 PLUG 1

14 A13707 RECEIVER 1

15 BOLT 6

16 A13744 WHEEL 1

17 A13743 WHEEL 2

18 BOLT 4

19 A13799 TAP 1

20 A13790 RILSAN HOSE 1

21 BOLT 6

22 WASHER 6

23 A13715 LATCH 6

24 A13741 GRATING BASIS 1

25 A13742 GRATING COVER 1

26 BOLT 1

27 A13681 DISTANGE BAR 1

28 A13722 ELECTRIC MOTOR 1

21/12/2022

TABLE 1



BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD

ART. NUMBER: 39833 
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HDSHEET: 2/4

POS. CODE DESCRIPTION QTY
29 A13688 TAP 1

30 A13777 JOINT 1

31 A13718 PRESSURE GAUGE 1

32 A13789 JOINT 2

33 A13762 PRESSURE REDUCER 1

34 A13781 JOINT 1

35 A13780 JOINT 1

36 A13746 WASHER 1

37 A13676 NON RETURN VALVE 1

38 A13807 PULLEY 1

39 A13710 BELT 2

40 WASHER 1

41 NUT 1

42 WASHER 1

43 A13711 CABLE 1

44 A13745 WASHER 2

45 A13694 BOLT 2

46 NUT 2

47 WASHER 2

48 BOLT 2

49 A13779 JOINT 1

TABLE 1

21/12/2022

ART. NUMBER: 39833 
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD



BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD

ART. NUMBER: 39833 
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HDSHEET: 3/4

SET 2

SET 1

PUMP
POS. CODE DESCRIPTION QTY

1 A13772 CRANKCASE 1

2 A13726 STUD M10X38 8

3 A13803 OIL DRAINING PLUG 1

4 A13831 BEARING SEAT 1

5 A13812 OIL SEAL 35Х56Х12 1

6 A13760 BALL BEARING 6307 1

7 A13822 GASKET BEARING SEAT 1

8 A13695 SCREW 6

9 A13748 SPRING WASHER 14

10 A13775 CRANKSHAFT 1

11 A13724 ROD 2

12 A13735 PISTON 2

13 A13702 PISTON RING SET D80 2

14 A13733 PISTON PIN 2

15 A13683 INSIDE CIRCLIP 4

16 A13753 WASHER 1

17 A13684 OUTSIDE CIRCLIP 1

18 A13759 BALL BEARING 6304 1

19 A13818 GASKET BEARING COVER 1

20 A13829
BEARING COVER 

TRIANGLE
1

21 A13696 SCREW M6X20 3

22 A13749 SPRING WASHER 3

23 A13823
BOTTOM CYLINDER 

GASKET
2

24 A13717 CYLINDER 2

25 A13754 SPRING WASHER 8

26 A13730 NUT M10  8

27 A13714 CYLINDER HEAD 2

21/12/2022

SET 2

SET 1



BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD

ART. NUMBER: 39833 
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B 270/5TC HD

SET 2

SET 1

SHEET: 4/4

POS. CODE DESCRIPTION QTY
28 A13824 CYLINDER HEAD GASKET 2

29 A13765 VALVE PLATE SET  2

30 A13825 TOP CYLINDER GASKET 2

31 A13699 SCREW 8

32 A13786 ELBOW CONNECTION 1

33 A13787 3 WAYS CONECTOR 1

34 A13797 COMPLETE COOLER 1

35 A13788 CIRCLE KEY 1

36 A13810 PULLEY 1

37 A13700 SCREW M10X45 1

38 A13755 SPRING WASHER 1

39 A13756 WASHER 1

40 A13816 AIR FILTER ASSEMBLY 2

40.1 A13814 AIR FILTER CARTRIDGE 2

41 A13794 OIL BREATH PIPE 1

42 A13804 OIL FILLING PLUG 1

43 A13703 OIL LEVELER  1

44 A13731 EXHAUST NUT 1

SET 1 A13766 VALVE SEAT  2

SET 2 A13767 VALVE SEAT  4

PUMP

21/12/2022

SET 2

SET 1


